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A discrete random variable X Is said to have a
uniform distribution on n points,{x;, X,,...., X_ },
If 1ts p.m.f.1s given by :

=0 , otherwise
In particular, If x. =1;1=12,....... N, p.m.f.will be



The number of points that shows up in rolling a fair die
follows uniform distribution with p.m.f

P == =120 6

= O , otherwise
The cumulative distribution function of X Is given by

F(x) = P(X sk):%

k being the number of variate values smaller than or equal to
X;k=01,....,n



The mean and variance of the uniform random variable
assu min g the values x,, X, ,......, X, are as follows:

Mean, 1= E(X) :in.lz X
i1 N

Variance, o° =V (X)=E(X?)-E?*(X)

:Zn:xf.i—iz 2 Zn:(xi —X)*
i1 [ i—1

n -



If x =i;i=12,......,n: then u = E(X):”T”and

o’ =V (X)=

(n+1)(2n +1) (n+1j2 - n°-1
o 2 12

n°—1
12

S tan dard deviation = o = \\V (X) =- \/



Suppose that a discrete random variable X
assu min g the values 0, 5, 10, 15, 20, 25, 30
follows uniform distrubution.

Obtain the probability that X takes the value ; —

1) O, 11) 2, 1i1) less than 10, 1v) 10 or less, v) 10 or more,
vi) less than 5.5.

What are the mean and stan dard deviation of the
distribution ?



P(X =X)=1,‘v’x

3
. = 1
1) P(X :O):;,u) P(X =2):;
i) P(X <10)=P(X =0)+P(X =5) =
¥) P(X <10) = P(X =0)+ P(X =5)+ P(X =10) ==
2 5

v) P(X 210) =1-P(X <10) = 1—?_?



W 2 h Lpte ot e g

-
E(X) =) xP(X =Xx)
:%[O+5+10+15+20+25+30]:1075:15

ERXE = DX

= %[O+52 +10% +15% + 20° + 25° +30°]



52
7
5°*6*(6+1)(2*6+1)
7*6
=13*25=325

[1° + 2° +3° +4° +5° +6°]

V(X)=E(X?)-E?(X) =325-152 =100







